FORMULA SHEET FINAL EXAM
Sum Identities:
cos(A + B) = cosAcosB – sinAsinB

sin(A + B) = sinAcosB + cosAsinB
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Difference Identities:
cos(A – B) = cosAcosB + sinAsinB

sin(A – B) = sinAcosB – cosAsinB
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Double-Number Identities:
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Half-Number Identities:
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Product-To-Sum Identities:
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Sum-To-Product Identities:
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 EMBED Equation.3  
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 EMBED Equation.3  
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 EMBED Equation.3  
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Law of Sines:
In any triangle ABC, with sides a, b, c,
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Law of Cosines:
In any triangle ABC, with sides a, b, c,
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Vectors:
u = (a, b( and v = (c, d(

Dot Product:

u ( v = ac + bd

If ( is angle between u and v, where 0( < ( < 180(, then u ( v = |u||v| cos(.

Trigonometric (Polar) Form of Complex Numbers:


Product Theorem:
(r1cis(1)(r2cis(2) = r1r2cis((1 + (2)


Quotient Theorem:
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De Moivre's Theorem:
[rcis(]n = rn[cis(n()]

nth Root:
For a positive integer n, the complex number a + bi is an nth root of the complex number x + yi if (a + bi)n = x + yi.

nth Root Theorem:
If n is any positive integer, r is a positive real number, and ( is in degrees, then the nonzero complex number rcis( has exactly n distinct nth roots, given by


[image: image25.wmf]n

r

(cis(),


where
( = 
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, k = 0, 1, 2, ..., n – 1.
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